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a + b = 0                          a = 
−1

b
                     ab = 1

4(O ,I ,J)OI = OJA (300 ;-200)B (-100 ; -400) 

 K[AB] ّفإن : 

K (100 ; 300)                          K (100 ; -300)                   K (-200 ;-100) 
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ab - 2 12a = 2 +  75 

1    a = 2 +  3    b = 2 -  3 

2 ab 

3  - a     ;      F = (a + 1) (b + a)     E = 
1

a
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∆OIOI = 1 cm   

1 ∆)    ;    B(-2)   ;   A(3)   C( 2 

2 AC   ;   AB   ;   OB 

3 D 𝐴  

4 M∆BM = 6xM  
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1ABCAB = 5 cm BC = 6 cmAC = 4 cm 

M BC BM = 2 cm

 𝐴𝐵 M AC N

2MN   ;   AN   ;   CN      
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b = ( 5 +  3 ) (4 -  3 ) - 15    ; 

 


